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1 avHo)—rLE#I 1.4

(1) (RC) B fli Kk ¥E (~10m) (1EHY)
g fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) Bifig

% Bt B | 0.15 0.15

R B Bt E 0.45 0.75

B 1.65 1.65

B =E M E 1.05 0.90

] ' 0.45

wEEERK 0.30 0.15 0.45

=) &t 0.00 0.00 0.15 0.90 1.35 3.15 2.55

(2) (RC)B{liTHI#E (5~20m) FiEHY (ELY)
BiE B 1% A % g

X5 FEEME| HER | EERE | BENA) HEm(B) FEf(C) Bifig

& B A M 0.60

R Ot Bt B 0.30 0.75 1.20

& &t 1.95 2.10

B = it E 1.35 1.50

] " 0.45 0.75

wEEERK 0.30 0.15 0.45

=) it 0.00 0.00 0.00 1.20 1.35 5.70 3.60

(3) (RC)HfilichZBRh4E (5~20m) FlEHY (1ELY)
g fE B 1% A %

X5 FEEME| BEE | EERED | EERA) FEm(B) FEH(C) Bifig

% Bt B | 0.75 0.45

R B O E 0.45 0.90 1.95

B 1.80 2.55

B =E M E 0.90 1.05

E = 0.30 0.30 0.45

wEEERK 0.30 0.15 0.45

=) &t 0.00 0.00 0.75 1.50 1.35 5.55 3.60

(4) (RC)IZEMLEHPZERIMIE(25~70m) FEHY (aEHyY)
BiE B 1% A % =

X5 FEEME| HER | TEEE | BENA) HEm(B) FiEf(C) Bifig

& B & M 0.60 0.90

R Ot Bt B 0.75 0.90 1.95 3.15

& &t 3.00 3.90 4.20

B = it E 1.80 2.55 3.00

] " 0.45 0.45 0.60 1.20

wEEERK 0.30 0.30 0.30

=) B 0.00 0.00 1.80 2.55 7.65 11.10 7.20

(5) (RC)IZFMEHTHIIE(30~100m) FiEHY (1EHY)
g fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) Bifig

% Bt B | 0.45 0.45

R B Bt E 0.60 0.90 1.65 3.15

% i 2.40 3.90 4.05

B =E G E 1.95 2.85 3.15

s 7= 0.45 0.60 0.90 1.80

wEEERK 0.30 0.30 0.30

a &t 0.00 0.00 1.50 2.25 7.20 12.00 7.20




1 avHo)—rLE#I 2/4

(6) (RC)3ZEMLEHKHT—A1B(10~35m) FiEHY (1ELY)
B fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) it g

R OBt Ot EH 1.05 1.20

R B M E 0.60 1.20 2.25 3.30

% i 1.35 4.20 6.45

B =E M E 0.60 1.65 2.25

s = 0.45 0.30 0.30 1.05

wEEERK 0.30 0.30 0.30

=) g 0.00 0.00 2.10 3.00 4.80 10.50 8.70

(7) (PO)BE#TIL T avIiiE (5~20m) FlEHY (aEHyY)
BiE B 1% A % =

X5 FEEME| HER | EEEE | BENA) HEm(B) FEf(C) Eifig

% Er & M 0.75

R Ot A B 0.90 1.80

® i 0.30 1.20 1.65

B = it E 0.15 0.45 0.45

] -y 0.30 0.15 0.45

& EERK 0.30 0.15 0.45

=) B 0.00 0.00 0.00 1.35 1.65 4.35 2.10

(8) (PO E#MTILTLarTHIEE(5~35m) FiEHY (1ELY)
g fE B 1% A % &

X5 FEEME| BEE | EERED | EERA) FEm(B) FEH(C) it g

R OBt Ot H 0.60

R B Bt E 0.90 1.35

% i 1.20 1.65 1.80

B =E G E 0.45 0.75 0.90

HE = 0.30 0.30 0.45

wEEERK 0.30 0.15 0.45

a B 0.00 0.00 0.00 1.20 3.00 4.65 2.70

(9) (PO)B#TLT i arhRO—HiiE(5~30m) FiEHY D))
BiE B 1% A % =

X5 FEREME| HER | TEEE | BENA) FEm(B) FEf(C) Hifig

% B & H 0.30 0.45

R Ot Bt B 0.30 0.90 1.20

® i 1.20 1.65 1.65

B = it E 0.75 1.35 1.20

] -y 0.30 0.30 0.30 0.45

wEEERK 0.30 0.15 0.45

=) B 0.00 0.00 0.60 1.35 3.30 5.10 2.85

(10) (PC)EffichZZFRhRHE (10~35m) F{EHY (1EHY)
g fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) it g

% & EF H 0.60 0.75

R OB B E 1.50 2.25 1.80

% i 1.35 2.85 4.20

B =E G E 0.90 1.05 1.20

] T 0.45 0.15 0.30 0.75

wEEERK 0.30 0.30 0.30

=) it 0.00 0.00 1.05 2.70 5.10 6.75 5.40




1 avHo)—rLE#I 3.4

(11) (PC)BfiARRMT a3 THIFE (15~50m) FigdhY (1EHY)
FfE B b A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEm(C) Bifig

R OBt Ot E 0.30 0.45

R B Bt E 1.20 1.80 2.70

B 3.00 3.45 3.75

B =E M E 1.65 2.10 2.10

] ' 0.45 0.15 0.30 0.75

wEEERK 0.30 0.30 0.30

=1 it 0.00 0.00 0.75 2.10 7.05 9.30 5.85

(12) (PC)Eflifs 145 (25~70m) FiEHY D))
BiE B 1% A % =

X5 FEEME| EER | TERE | BENA) HEm(B) FiEf(C) it g

% Er A H 0.90 0.60 1.20

R Ot B B 0.75 1.50 3.30 2.55

& i 1.95 4.80 6.45

B = it E 1.05 1.65 2.40

] -y 0.60 0.45 0.60 1.05

& EERK 0.30 0.30 0.30

=1 B 0.00 0.90 1.95 3.45 7.20 10.35 8.85

(13) (PC)3ZEMEHTIL T IV THIE (25~85m) FiEdHY (1ELY)
FfE B s A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEm(C) i g

% & EF H 0.75 0.90 1.05

R B B E 0.75 1.95 3.15 3.00

B 1.95 4.95 7.20

B =E M E 1.20 1.80 2.40

] 7= 0.60 0.60 0.60 1.50

wEEERK 0.30 0.30 0.30

=1 B 0.00 0.75 2.25 3.90 7.20 11.55 9.60

(14) (PC)3EMERARRNT a3 THIIE (40~120m) FiEHY (ELY)
BiE B 1% A % g

X5 FEEME| HER | TEEE | BENA) HEm(B) FiEf(C) it g

% EF & M 1.05 1.05 1.05

R Ot A B 1.05 2.40 3.75 3.75

® i 2.70 6.15 8.70

B = it E 1.50 2.10 3.00

] -y 0.60 0.60 0.75 1.95

wEEERK 0.30 0.30 0.30

=1 B 0.00 1.05 2.70 4.35 9.00 14.25 11.70

(15) (PO)fIMHE n BIS—A1B(20~65m) FiEHY (1EHY)
g fE B s A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEm(C) Bifig

R OBt Ot EH 0.75 0.90 0.90 1.05

R B B E 1.35 2.70 4.35 3.90

% i 3.45 6.90 9.90

B =E M E 1.80 2.55 3.30

] = 0.45 0.45 0.45 0.60 1.80

wEEERK 0.45 0.15 0.30

=1 it 0.75 1.35 2.70 4.65 10.35 15.45 13.20




1 avHo)—rLE#I 4,/4

(16) (PC)3ZMEK P KRR (35~105m) FlEHY (1EHY)
g fE B 1% A % &

X5 FEEME| BEE | FEEED | EERA) FEm(B) FEm(C) Bifig

R OBt Mt E 1.35 1.20 1.05

R B M E 1.05 2.55 4.05 3.90

% i 3.00 6.45 9.60

B =E M E 1.65 2.25 3.30

] ' 0.75 0.75 0.75 1.95

wEEERK 0.30 0.30 0.30

a it 0.00 1.35 3.00 4.65 9.75 14.85 12.90

(17) (PC) 3ERLEHIRRAMT a3 THIFE (60~195m) FlEdHY sy
BiE B 1% A % =

X5 FEEME| EER | TERE | BENA) FEm(B) FiEf(C) Bifig

% EF & M 0.45 0.45 0.60 1.05

R Ot B B 1.80 2.55 4.35 5.70

® i 6.60 8.25 9.00

B = it E 3.30 4.35 4.50

] " 0.75 0.90 1.35 1.65

wEEERK 0.45 0.15 0.30

=) B 0.45 0.45 3.15 4.95 15.75 20.25 13.50

(18) (PC)3EMEHtFaHIIE (65~225m) FiEdhHY (1EHY)
g fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEm(C) Bifig

R OBt Mt E 0.45 0.60 0.75 1.20

R B M E 2.25 3.15 5.10 7.05

% i 6.90 8.85 9.30

B =E M E 4.20 5.55 5.85

] ' 0.75 0.60 1.05 2.10 2.55

wEEERK 0.45 0.15 0.15 0.45

a it 0.45 1.35 4.05 5.55 18.45 2445 15.15




2 SBELERT 1.4

(1) (8 BEffiHRZ4E (5~35m) FlEHY (1ELY)
HfE B 1% A % &

X5 FEEME| BEE | EERED | EERA) FEm(B) FEm(C) Bifig

% Bt B | 0.15 0.45

R B B E 0.30 0.15 0.75 1.05

% i 1.20 1.50 1.95

B =E M E 0.45 0.60 0.90

] ' 0.45 0.15 0.45 0.45

WwEEERK 0.30 0.15 0.45

a it 0.00 0.00 0.90 1.05 3.00 4.05 2.85

(2) (Bh) BfiSHHRE (5~35m) FiEHY (aEHyY)
BiE B 1% A % =

X5 FEEME| HER | EERE | BENA) HEm(B) FEf(C) Bifig

% EF A M 0.15 0.45

R Ot Bt B 0.30 0.30 0.75 1.05

& i 1.20 1.50 1.95

B = it E 0.60 0.75 0.90

] " 0.45 0.15 0.45 0.45

wEEERK 0.30 0.15 0.45

=) B 0.00 0.00 0.90 1.20 3.15 4.20 2.85

(3) (8) B flish#THE 10~40m) FliEHY (1EHY)
B fE B 1% A % &

X5 FEEME| BEE | EERED | EERA) FEm(B) FEm(C) Bifig

% Bt B | 0.15 0.15 0.45

R B B E 0.45 0.75 1.20 1.65

& & 1.95 2.55 3.75

B =E M E 1.20 1.35 1.95

] ' 0.45 0.15 0.45 0.75

wEEERK 0.30 0.15 0.45

=) it 0.00 0.15 1.05 1.65 4.95 6.75 5.70

(4) (8H) B4t & R ERHTHE (15~50m) FlEHY (aEHyY)
BiE B 1% A % =

X5 FEEME| HER | TERE | BERA) FEm(B) FiEf(C) Hifig

% EF & M 0.15 0.15 0.60

R Ot Bt B 0.45 0.75 1.50 1.95

& i 2.25 3.00 4.05

B = it E 1.20 1.65 2.25

] -y 0.45 0.30 0.45 0.90

wEEERK 0.30 0.15 0.45

=) B 0.00 0.15 1.05 1.95 5.55 7.95 6.30

(5) (§M) BA fli $ff] PR bR SR HT45 (25~85m) FlEdHY (1EHY)
g fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEm(C) Hifig

R OBt Ot O E 0.60 0.90 1.35

R B B E 1.20 1.50 3.60 2.70

& & 2.25 3.75 9.30

B =E M E 1.20 1.80 255

s = 0.45 0.75 0.30 0.60 0.45

wEEERK 0.30 0.30 0.30

=) it 0.00 1.05 2.85 3.45 7.95 9.00 11.85




2 SBELERT 2/4

(6) (8H) BfHFEHTHE (20~75m) FliEHY (1EHY)
g fE B 1% A % &

X5 FEEME| BEE | FEEED | EERA) FEm(B) FEH(C) Bifig

R OBt Ot E 0.30 0.15 0.60

R B B E 1.35 1.65 3.90 4.20

B 4.50 5.55 5.85

B =E G E 2.70 2.70 3.45

HE = 0.45 0.30 0.30 0.90 0.90

wEEERK 0.30 0.30 0.30

a it 0.00 0.75 1.80 2.85 12.30 13.65 9.30

(7) (8H) B4 & RFEHTIE (25~75m) FlEHY (aEHyY)
BiE B 1% A % =

X5 FEEME| EER | EEEE | BENA) HEm(B) FiEf(C) Eifig

% Er & M 1.20 0.90 1.20

R Ot Bt B 0.90 1.95 4.20 2.70

® i 2.85 3.75 10.35

B = it E 1.50 1.50 3.60

] = 0.45 0.45 0.30 0.75 0.75

wEEERK 0.30 0.30 0.30

a B 0.00 1.65 2.25 3.75 9.60 9.00 13.95

(8) (#H) B fMish PRARFEHT145 (25~85m) FiEHY (1EHY)
HfE B 1% A % &

X5 FEEME| FEE | EEEED | EERA) FEm(B) FEH(C) Bifig

R OBt Ot O E 0.45 0.45 0.90

R B B E 1.35 2.10 4.35 4.80

% i 4.95 5.40 6.90

B =E G E 255 2.70 3.00

] ' 0.45 0.30 0.45 0.75 1.05

wEEERK 0.30 0.30 0.30

=) g 0.00 0.90 2.10 3.75 12.90 14.25 9.90

(9) () & JL/\—#71HE (BIXREIEE H60~195m) FiEdHY (aEHyY)
BiE B 1% A % g

X5 FEEME| HER | TEEE | BENA) FEm(B) FEf(C) Hifig

% B A M 0.45 0.60 1.05

R Ot Bt B 1.65 2.55 4.65 5.55

® i 5.70 6.60 6.60

B = it E 2.55 3.00 3.00

g = 0.45 0.45 0.75 1.35 1.20

wEEERK 0.30 0.30 0.30

a B 0.00 0.90 2.70 4.65 14.55 16.65 9.60

(10) () Biffir>RX4E (35~110m) FiEHY (1ELY)
g fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) Bifig

R OBt Ot EH 0.45 0.30 1.05

R B Bt E 1.05 1.65 3.75 5.70

B 5.25 7.35 7.80

B =E G E 2.25 3.45 3.15

s = 0.45 0.30 0.30 0.75 1.35

wEEERK 0.30 0.15 0.45

=) it 0.00 0.90 1.65 3.30 12.15 18.30 10.95




2 SBELERT 3.4

(11) () SEREHEERMIIE (60~195m) FlEHY (1ELY)
g fE B & A % &

X5 FEREME| HEE | FERE | BENA) FEm(B) FEH(C) Bifig

% it Bt E 0.45 0.60 1.20

R B B E 1.50 3.45 4.35 5.25

B 5.70 6.90 7.65

B =E M E 3.00 3.15 3.60

s = 0.45 0.30 0.60 0.90 1.20

wEEERK 0.30 0.30 0.30

a it 0.00 0.90 2.40 5.55 14.25 16.80 11.25

(12) () m BS—AERHTIE (20~90m) FiEHY (aEHyY)
BiE B 1% A % =

X5 FEEME| HER | TEEE | BENA) HEm(B) FiEf(C) Bifig

% B A M 0.45 0.75 1.20

R Ot Bt B 1.95 2.85 5.85 6.00

B 7.65 8.85 10.35

B = it E 3.60 4.05 4.65

] -y 0.75 1.05 1.50 1.80

wEEERK 0.45 0.15 0.15 0.30

a B 0.00 0.45 3.90 5.25 18.75 21.00 15.00

(13) () X IL/NA—FS5RKE (120~350m) FligdHY (1ELY)
g fE B 1% A % &

X5 FEREME| HEE | FEEE | BERA) FEm(B) FEH(C) Bifig

% it Bt E 0.45 0.60 1.20

R B O E 2.25 3.00 7.05 7.65

% i 8.70 9.30 10.35

B =E G E 4.50 4.95 5.10

s = 0.45 0.45 0.60 1.50 1.65

wEEERK 0.45 0.15 0.15 0.30

a it 0.00 0.90 3.75 4.95 21.90 23.85 15.45

(14) () 3% E# s Rk SR HT4E (70~210m) FlEHY (aEHyY)
BiE B 1% A % g

X5 FEREME| HER | TEEE | BENA) FEm(B) FEf(C) Hifig

% Er & M 0.90 1.05 2.10 2.25

R Ot Bt B 2.55 4.95 7.05 4.20

® i 6.60 10.35 15.00

B = it E 3.00 3.60 5.10

] = 0.75 1.05 0.90 1.35 1.80

wEEERK 0.30 0.30 0.15 0.45

a it 0.90 1.80 6.00 8.40 18.15 20.40 20.10

(15) () SEMLEHKATAE (125~380m) FiEHY (1ELY)
g fE B 1% A % &

X5 FEREME| HEEE | FERE | BERA) FEm(B) FEH(C) it g

% it Bt E 0.45 0.60 1.35

R B Bt E 2.25 3.45 7.80 9.15

% i 9.15 9.90 10.80

B =E M E 4.65 4.95 5.40

g = 0.45 0.45 0.60 1.50 1.80

wEEERK 0.30 0.30 0.15 0.30

=) it 0.00 0.90 3.60 5.70 23.25 26.10 16.20




2 SBELERT 4./ 4

(16) (§) SR EREFEHTIE (110~320m) FliEHY (1ELY)
B fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) it g

R OBt Ot EH 0.60 0.75 1.80

R B B E 2.85 5.10 8.40 9.15

B 8.55 9.45 11.85

B =E G E 4.50 4.95 6.00

s = 0.60 0.45 0.90 1.50 1.80

wEEERK 0.30 0.30 0.15 0.30

a &t 0.00 1.20 4.35 8.10 23.10 25.65 17.85

(17) () SR R:EH R R FEHTHE (120~420m) F{EHY (aEHyY)
BiE B 1% A % =

X5 FEEME| HER | EEEE | BENA) FEm(B) FiEf(C) Hifig

% Er A M 1.05 1.05 1.50 2.85

R Ot At B 3.00 6.90 8.40 6.75

® i 6.60 12.30 26.40

B = it E 3.75 4.35 8.40

] = 1.05 1.20 1.35 1.95 1.80

& EERK 0.45 0.15 0.15 0.45

=) it 1.05 2.10 6.15 11.25 20.85 25.65 34.80




3 ®BEI 1.2

(1) FhABE - D))
g fE B & A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) Hifig

% Bt B | 0.25 0.75

R B Bt E 0.25 1.00

% i 0.20 0.40 0.20

B =E M E 0.20 0.40

s = 1.00 1.50

wEEERK 0.20 0.10

=) it 0.00 0.00 0.25 1.75 2.15 1.70 0.60

(2) BTHKEES D)
BiE B 1% A % g

X5 FEREME| EER | EEEE | BENA) HEm(B) FiEf(C) Eifig

% Er & M 0.25 1.00

Rt B B 1.00 1.00

& &t 0.40 0.40 0.40

B = it E 0.40 0.40

] " 1.00 1.50

& EERK 0.20 0.30

=) it 0.00 0.00 0.25 2.00 3.10 2.10 0.80

(3) #EzEEAKIELS GRER) - D))
g fE B & A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) Bifig

% Bt B | 0.75 0.75

R B OBt E 1.75 2.00

% i 0.80 0.90 0.80

B =E G E 0.50 0.40 0.50

s = 1.00 1.00 1.00

wEEERK 0.40 0.20

a g 0.00 0.00 1.75 1.75 4.45 3.50 1.30

(4) S—A HEBE (1FEHY)
BiE B 1% A % =

X5 FEEME| HER | FERE | BENA) FEm(B) FiEf(C) Bifig

% B & M 0.75 1.50

R Ot B B 0.75 1.25 1.75

® i 0.90 0.90 1.00

B = it E 0.50 0.50 0.50

] " 1.50 1.00 1.00

wEEERK 0.40 0.20

=) B 0.00 0.00 2.25 3.65 3.85 3.15 1.50

(5) F#EARIEBE - D))
g fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) Bifig

% Bt B | 0.75 0.75 1.25

R B Bt E 3.25 2.00

% i 0.60 1.00 1.10

B =E M E 0.30 0.40 0.50

s = 1.50 1.00 1.00

wEEERK 0.40 0.20

a it 0.00 0.75 2.25 2.65 5.35 3.40 1.60




3 EEXT 2./2

(6) S—A* REBEL (2AM) aELY)
i B 1% A lix &

X5 FEEME| BERE | FESET | EENA) [ HERB) | EEmC) it g

% & &F H 0.75 1.25 1.25

Rt BB 1.25 2.25 2.25

% i 0.90 1.20 1.60

M EHE 0.30 0.50 0.50

] =y 2.00 1.00 1.50

W& EEK 0.20 0.30 0.10

a it 0.00 0.75 3.45 3.80 5.05 3.95 2.10




4 BHT 1.2

(1) FEAHAKEH - D))
g fE B 1% A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEH(C) Hifig

% Bt B | 0.25 0.75

R B Bt E 0.60 1.50

& & 0.45 0.45 0.45

B =E T E 0.45 0.30

] ' 1.50

wEEERK 0.20 0.10

a B 0.00 0.00 0.25 2.25 1.25 2.50 0.75

(2) EBEKBHIGET) D)
BiE B 1% A % =

X5 FEREME| EER | EERE | BENA) FEm(B) FEf(C) Bifig

& Er A M 0.25 0.75

R Ot Bt B 1.20 1.80

& &t 0.60 0.45 0.75

B = it E 0.75 0.60

] " 1.00 1.50

wEEERK 0.20 0.10

=) it 0.00 0.00 0.25 1.75 3.50 3.10 1.35

(3) #XEH(24K) - D))
g fE B 1% A % &

X5 FEEME| BEE | EERED | EERA) FEm(B) FEH(C) Bifig

R OBt Mt EH 0.50 1.00

R B OB E 2.40 1.80

B 0.45 1.05 1.05

B =E G E 0.60 0.45

s = 1.00 1.50

wEEERK 0.20 0.30

a g 0.00 0.00 0.50 2.20 4.65 3.45 1.50

(4) RHAKIBH] (1FEHY)
BiE B 1% A % =

X5 FEREME| R | FERE | BERA) HEm(B) FiEf(C) Bt g

% Er A M 0.25 0.75

R Ot Bt B 1.50 2.40

& &t 0.75 0.90 0.90

B = it E 0.45 0.75 0.60

] " 1.50 1.50

wEEERK 0.20 0.30

=) B 0.00 0.00 0.25 245 4.50 4.05 1.50

(5) S—A RAEH] - D))
g fE B & A % &

X5 FEEME| BEE | EERED | EERA) FEm(B) FEH(C) Hifig

% Bt B | 0.75 0.75

R B OB E 1.50 2.10 3.00

% i 1.20 1.35 1.50

B =E T E 0.75 0.75 0.60

E 7= 1.50 1.00 1.50

wEEERK 0.40 0.30

=) it 0.00 0.00 2.25 3.25 5.95 5.40 2.10




4 BRI 2/2

(6) SRCHER (hZ= K 4BH) - D))
BiE B & A % &

X5 FEREME| HEEE | FERE | BERA) FEm(B) FEH(C) Eifig

% & Bt H 0.75 1.75 2.25

R B B E 8.10 5.70

& & 1.65 2.25 4.35

B =E G E 0.75 1.20 1.20

s = 2.00 2.50 1.50

WwEEERK 0.40 0.30 0.30

a it 0.00 0.75 4.15 5.05 12.30 9.15 5.55




5 REa&EmRT

(1) BRSmGHEN -RCH-PHCHUIZERY 5. ) (FEHY)
BifE B s A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEm(C) Bifig

R OBt Ot E 0.15 0.3 0.3

R B Bt E 1.2 1.2

B 1.4 1.75

B =E G E 0.7 0.7

] ' 0.7 0.7

wEEERK 0.3 0.3

=1 H 0 0.2 1.0 1.0 1.5 3.6 25

(2) T CEREMZERSQ (1FEHY)
FifE B 1% A % =

X5 FEEME| HER | TEEE | BENA) HEm(B) FiEf(C) it g

% B A H 0.15 0.3 0.3

R Ot A B 1.2 2

& &t 1.4 14

B = it E 14 1.75

] " 0.7 0.7

& EERK 0.3 0.3

=1 it 0 0.2 1.0 1.0 15 5.1 3.2

(3) FH#Em D)
BifE B b A % &

X5 FEEME| BEE | EERED | EERA) FEm(B) FEm(C) Bifig

% Bt B | 0.45 0.45 0.45

R B B E 1.60 1.60 2.00

B4 1.05 1.40 1.05

B =E T E 1.40 1.75

] ' 1.05 0.70

wEEERK 0.90 0.75

=1 it 0.45 0.45 1.50 2.30 3.55 5.55 2.80




6 EHERT 1.2

(1) BREM GAEHM -RCH-PHCHISEARY %,) (FEHY)
g fE B & A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEm(C) Bifig

% Bt Bt | 0.35 0.70 0.70

R B Bt E 1.40 1.75

B 0.60 0.75

B =E M E 0.30 0.30

] T 0.70 0.70

wEEERK 0.70 0.70

a g 0.00 0.35 1.40 1.40 2.10 3.35 1.05

(2) ST GEREMZERRS (1FEHY)
BiE B 1% A % =

X5 FEEME| HER | EEEE | BENA) HEm(B) FiEf(C) Bifig

% Er A H 0.35 0.70 0.70

R Ot A B 1.40 2.45

B 0.75 0.75

B = it E 0.60 0.75

] -y 0.70 0.70

& EERK 0.70 0.70

=) it 0.00 0.35 1.40 1.40 2.10 4.50 1.50

(3) FEEEM D)
g fE B 1% A % &

X5 FEEME| BEE | EERED | EERA) FEm(B) FEm(C) Bifig

R OBt Ot E 0.70 1.05 1.40

R B Bt E 1.75 1.75 2.45

& & 0.45 0.60 0.75

B =E G E 0.60 0.75

] T 1.05 0.70

wEEERK 2.10 1.75

a g 0.70 1.05 2.45 2.45 4.30 5.40 1.50

(4) HEGEHIDH»ER) D)
BiE B 1% A % =

X5 FEEME| HER | FEEE | BERA) HEm(B) FEf(C) Eifig

% Er & M 0.70 1.05 1.40 1.05

Rt B B 2.10 2.10 3.50 4.55

® i 1.80 1.65 1.65

B = it E 0.90 0.90 1.95

] -y 1.05 1.05

& EERK 2.10 1.75

= B 0.70 1.05 455 4.20 8.30 8.85 3.60

(5) $HEXRIRYTIL EBHOAER) (FEHY)
g fE B & A % &

X5 FEEME| BEE | EEEED | EERA) FEm(B) FEm(C) it g

% Bt B | 0.70 1.05 1.75 1.40

R B Bt E 1.75 1.75 3.85 4.20

% i 1.80 2.40 2.85

B =E G E 0.60 0.75 1.05

] ' 1.05 1.05 1.05

wEEERK 2.10 1.75

a it 0.70 2.10 4.55 4.20 8.35 9.10 3.90




6 IBHERT 2/2

(6) —a—RFIP5—)> EBHDHER) aELY)
i B b JN lix &

X5 FEEME| BERE | FESET | EENA) [ HERB) | EEmC) it g

B 0.7 1.05 1.4 2.45

Rt A B 1.75 3.15 4.2 5.25

B 2.25 2.25 2.25

M EHE 1.2 1.2 1.2

i =y 1.05 1.05 1.4

W& EEK 2.1 1.75

a it 0.7 2.1 4.2 7.0 9.8 10.5 35




7 HWNSEREMERE

(1E5Y)
i B 1% A lix &

X% FEEME| BERE | FESET | EENA) [ HERB) | EEmC) HEitig
B 0.30 0.30 0.60
R Rt A B 1.05 1.35 2.40
& 2.55 3.15 3.90
M E HE 1.05 1.80 1.35
FE 2 it B
B I & E
i) T 0.15 0.45
W& EEK 0.45 0.45 0.30
a B 0.00 0.45 0.75 2.10 5.40 7.65 5.25
XERHE., mItEINELGL




